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from itertools import combinations 1
L=[IW1I’ lwzl’ Iw3ll IW4I]
print(‘pairs', list(combinations(L, 2)))
2
forroute in permutations({1,2,3}): |
print(route) oo
N 3
foriinrange(s)
print(random.randint(*[1,20)) | e

da, )



موقع حل دروسي 


arr=numpy.full((4,4),0)
print(arr)

arr[o,0]=1

arr[3,3]=1

print()

print(arr)
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from skimage.color import rgb2gray

X _train_gray = np.array([rgb2gray(img) for img in X _train])

X _test _gray = np.array([rgb2gray(img) for img in X _test])

from keras.applications.vggl6é import
from keras.models import Model

model = VGG16()

model = Model(inputs = model.inputs,

VGG16

outputs = model.layers[-2].output)
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from sklearn.model_selection import train_test_split Ly ULl ges J
X _train, X test, y train, y test = train_test split(

X,

Y,

test size = 0.20,

shuffle = True,

random_state = 42,
)
tsne = TSNEVisualizer(colors = color_palette) sars s AC L,m‘ &A@ﬂ\ dﬁw <
tsne.fit(X_hog, Y) il uﬁﬁ éJ.Afﬂ\ ?“JS‘
tsne.show();
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